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The cost of equity can be measured as
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The appropriate measure to derive the growth rate according to Dividend Growth Model for equity valuation is
Options:

1. ® Growth rate of sales over a period of time

2. ¥ Plough-back ratio multiplied with return-cn-equity

= % Plough-back ratio rmaltiplied with net profit margin

4. % Growth rate of fixed assets over a period of time
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The firms prefer to rely on internal accruals followed by debt finance and external finance is referred as

Options:

1. ¥ MNet Income Approach

2. % Net Operating Income Approach
= % Modigliani & Miller Proposition

4. ¢ Pecking Crder Theory
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The difference betweern the cost of two alternative decisions is called as

Options:

1. % Direct Cost

2. ¥ Differential Cost
3. % Marginal Cost

4. % Opportunity Cost
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& company’'s sales is Bs 1120,000, Variable cost is Rs 220,000 and fixed costs are Bs. 700,000, What will e
the COperating Leverage of the company?
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An increase in income leads to a decrease in demand, other things being constant for
Options:

1. # Superior Goods

2 % Inferior Goods

3. % Substitute Goods

4. % Complementary Goods
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& market structure which consists of one buyer and one seller is referred as
Options:

1. % Monopsony

2. % Monopoly

=, ¢ Eilateral monopoly

4. % Duopoly
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ne of the following is not the assumptions of Diminishing marginal utility theory
Options:

1. % Cardinal measurement of utility

2. ¥ Marginal cost of the products

3. % Monetary measurement of utility

4. ¥ Continuous consumption
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If the price elasticity of supply of onions is 0 .60 and the price increases by 3%, then the quantity supplied of
onions will rise by

Options:

1. % 0.60 percent
2. % 0.20 percent
= ¢ 1.8 percent
4. % 18 percent
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According to the kinked dernand curve model, which of the following is generally true with respect to firms in
oligopaly?

Options:

1. # They tend to eliminate rivals through merger or predatory practices until a single monopoly firm exists
2. %  market conditions force the firms to be allocatively efficient

3. ¥ they tend to be reluctant to change price but will use non-price competition to increase sales

4. % they engage in vigorous price competition
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According to one of the following models, the market price of the shares will increase whern a company
declares dividend.

Options:

1. ¥ Graham & Dodd Model
2. % Walter model

3. ¥ Gordon model

4. % Modigliani & Miller model
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& predetermined cost based on a technical estirnate for materials, labour and overhead for a selected period of
time and for a prescribed set of working conditions

Options:

1. % Standard Cost

2. %  Budgeted Cost

% % Predetermined Cost

4. % Book Cost
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A& cormpany has made a profit of Rs. 50,000 in a vear. If the selling price and marginal cost of the product are
Es.15 and Es 12 per unit respectively, what would be the margin of safety?

Options:

1. ¥ Rs. 5,00,000
o ® Es 3,323,333
3. ¢ Rs. 250,000
4. % Rs. 200,000

Question Number : 13 Question Id : 79840723599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
208 Coad) 28 ‘raoaﬁ-ej;}cﬁoﬁe dr. 50,000 erzo esBoiod. S 03V HEGDH B6 6».15 awdosw

€xarroed DYoo 6°.12 en esasnd BEed HFES Joed?

Options:
| % d». 5,00.000

> % 6. 3.33.333
o 0. 2.50.000
4 % a®. 2,00,000

Question Number : 14 Question Id : 79840723600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
Window dressing is to

Options:

1. ¥ Improve the appearance of financial statements
Z. ® To eliminate critical information

3. #®  Tomanipulate financial staterments

4. % To deceive share holders
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when cash received towards income from investment is s, 60,000, Assets side of the balance sheet shows Bs.
10,000 as accrued income from investrments, then the Profit and Loss Account should show on the credit side:

Options:

1. % Rs. 70,000
= % Rs 60,000
3. % Es 50,000
4. % Rs. 10,000
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Zalculating the value of GDF of two countries using the Purchasing Power Parity (PFP) method involves:
Options:

1. ¥ Expressing the value of both countries’ output in US dollars.

2. ¥ Finding out what can be bought in each country with a unit of the local currency.

z. #®  Comparing the inflation rates in each country.

4. % Taking into account the exchange rate of each country's currency,
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Ewoto Protocol pertains to

Options:

1. ® Capital formmulation

2 % Globalisation

=, ¥ Environmental protection

4. % Unemployment reduction
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Match the following:

List-I List-IT
A.WTO (1) Provides loans to address short-term balance of payments problems
B. RBI (11) Multilateral trade negotiating body.
C. IMF (111) Facilitating lending and borrowing for reconstruction and
development
D. IBED (1v) Central Bank of India
Codes:
Options:

A B & D

L () @) (1) (u)
A B C D

o % (0 () () ()
A B C D

z % (v) (1) @) (i)
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EFCG stands for

Options:

1. % Export Promotion Capital Goods.

2 %  Expert Programme for Credit Generation.
% % Exchange Programme for Consumer Goods.

4 % Export Prormotion Consurmer Goods.
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which of the f-:}ll-::-wiﬂg organizations is meant for promoting sirall scale industries at district lesel?
Options:

1. % SIDEI

= ¥ DIC

3 % SFC

4 # MNABARD
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Which of the following permits the transmission of a bill, along with payment of that bill, to be conducted over the Internet?

Options:

1. # financial cyber mediary

2. % electronic check

Z. ¥ electronic bill presentrment and payrnent

4 # otransfer
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In NetEill's protocol for small payments for internet services

i) Key to decrypt information is sent to customer by NetEill only when there is enough amounts in debit
Aaccount

i11) The vendor supplies the key to NetEBill server when he receives payirent

{iii) Wendor does not encrypt information purchased by customer

{iv) Checksum of encrypted information received by custorner is attached to his payment order

Select the Correct option:

Options:

1. %4,

2. % 1, i
3% i, i, iv
4 90 11, 1v
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which form of e-market space brings the buyers and sellers together from the sarme industry?

Options:

1. ® Horizontal
2. ¥ Yertical
3. % Integrated
4. #® Inclined
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A1 electronic file that distinctively identifies the individuals and websites on the internet, and enable secure
arnd confidential cormmunication is called

Options:

1. % Digital signature
= % Digital certificates
% % Encryption

4 # Firewalls
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& creative presentation of Ad message to make impact on the audience is

Options:

1. % id therme

= ¥ ad copy

3. % Ad structure

4, % Ad expense
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If a hypothesis is statistically significant, then it can be concluded that the
Options:

1. ¥ Cbserved result is probably not due to chance

2. % Observed result is probably a chance result

3. % Observed result cannot possibly be due to chance

4. % Null hypothesis of no relationship is probably true
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which type of sampling is appropriate when the population consists of well defined groups such that the
elernents within each group are hornogeneous and betweeen each group they are heterogeneous?

Options:

1. ® Cluster Sampling

2. % simple Random Sampling
=, ¥ Stratified Sampling

4, % Judgemnent Sampling
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Correct : 2 Wrong: 0.66

& Binormial distribution is characterized as 2 (16, 0.5)ie sample size is 16 and the probability of success is
0.5. The mean and variance of this distribution will be respectively

Options:
1.¥38 4

= ® 385
S %48
4 % 4 4

Question Number : 28 Question Id : 79840723614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Options:
1.« 8.4

> % 8.8
3.@4-8

Question Number : 29 Question Id : 79840723615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
Sturge’s rule is used to find out directly the

Options:

1. % MNumber of classes in a continuous distribution
2. % Size of class limits

% % Direction of the classification

4 % Size of direction

Question Number : 29 Question Id : 79840723615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 30 Question Id : 79840723616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
The area under norrral distribution covered within p + Sor lirmits is

Options:

1. % 06827
o % 09545
=z v 09973

4 % 10000

Question Number : 30 Question Id : 79840723616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Options:
, % 0.6827

. % 0.9545
5 v 0.9973
4 = 1.0000

Question Number : 31 Question Id : 79840723617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

According to one of the following, the view that the dividend policy of a firm has a bearing on share valuation
is based on assumption that retained earnings is the only source of financing is advocated by

Options:

1. ¥ James E. Walter

2. % Wwilliam J. Stonton
= % Miller and Orr

4. % Modigliani and Miller

Question Number : 31 Question Id : 79840723617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 32 Question Id : 79840723618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
The present value of future earnings model of Human Resources Accounting is suggested by

Options:

1. # Eric Flamhaltz

2. % Jaggi & Lau

% % 5 K. Chakraborty

4. % Brauch Lev & ABA Schwartz

Question Number : 32 Question Id : 79840723618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 33 Question Id : 79840723619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
Match the following:

List—1I List—1II
(a) 1956 (1) Consumer ProtectionAct
(b) 1986 (i1) Indian CompaniesAct
(c) 1992 (111) Securities andExchange Board oflndia
(d) 1947 (1v) General Agreement on Trade and Tariffs
Codes :

Options:

(a) (b) (c) (d)
Le ) O G )
(a) (b)) () (d)
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Question Number : 33 Question Id : 79840723619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 34 Question Id : 79840723620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
Ir1 which wear, RBEI empowerad to regulate money, forex, G-5ec and 20ld related securities rrarket

Options:

1. % 2004
2 ¥ 2006
3 % 1998
4, % 2000

Question Number : 34 Question Id : 79840723620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 35 Question Id : 79840723621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The process of dividing a consumer or business market, into sub-groups based on some type of shared
characteristics is referred as

Options:

1. % Market Strategy

2. ¥ Market Segmentation
% % Market Targeting

4. % Market Positioning

Question Number : 35 Question Id : 79840723621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 36 Question Id : 79840723622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The existence of high startup costs or other obstacles that prevent new competitors from easily entering an
industry or area of business is referred as

Options:

1. ¥ Switching costs

2. ¥ Entry barriers

3. % Loyalty programs
4. % Affiliate programs

Question Number : 36 Question Id : 79840723622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 37 Question Id : 79840723623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

A marketing strategy used by businesses to attract CUStOIMers to a new product or service is
Options:

1. % Predatory Pricing

2. % Economy Fricing

% % Ppsychological Pricing

4. ¥ Penetration Pricing

Question Number : 37 Question Id : 79840723623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 38 Question Id : 79840723624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

& form of advertising which is used to promote banned products, like cigarettes and alcohol, in the disguise of
another product is

Options:

1. % advorcacy advertising
2. % Shortage advertising
= ¢ Surrogate adwvertising

4. ¥ Sponsored advertising

Question Number : 38 Question Id : 79840723624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 39 Question Id : 79840723625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
AIDAS stands for

Options:

1. % Action, Interest, Decision, Attention, Service

2. % Attention, Interest, Desire, Action, Satisfaction
= ®  attention, [nterest, Deed, Attitude, Satisfaction
4. % attitnde, Interest, Decision, Attention, Service

Question Number : 39 Question Id : 79840723625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 40 Question Id : 79840723626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Assume that marginal revenue equals marginal cost at 100 units of output. At this output level, a profit-
maximizing firm's total fixed cost is Rs. 600 and its total variable cost is Bs. 400, The price of the product is
Es. & per unit. In the short run the firm should produce

Options:

1.9 100 units

2. % More than 100 units
3. % Zero units

4. % More than 1 and less than 100 units

Question Number : 40 Question Id : 79840723626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 41 Question Id : 79840723627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
If the equation v = 5 + 0.6x was graphed, the

Options:

1. ® Slope would be - 5

2. % Vertical intercept would be + 0.6
3 % Slope would be + 5

4, ¥ Slope would be + 0.6

Question Number : 41 Question Id : 79840723627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 42 Question Id : 79840723628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
Who is the father of Classical Economics

Options:

1. % Alferd Marshall
2 ¥ idam Smith
3. ®  Keynes

4. % Ppeter Drucker

Question Number : 42 Question Id : 79840723628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 2 Wrong: 0.66
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Question Number : 43 Question Id : 79840723629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
The concept of imperfect cornpetition was developed by

Options:

1. # Alfred Marshall
= ® WS Jevons

= % Joan Robinson

4, % Edward Charmberlin

Question Number : 43 Question Id : 79840723629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 44 Question Id : 79840723630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Ealance of Payment is

Options:

1. ® Balance of trade + IMNet earnings on invisibles

2. %  Foreign exchange inflow - Foreign exchange outflow

3. ¥ EBalance of current account + Ealance of capital account + Statistical discrepancy

4. ¥ Export of goods - Import of goods

Question Number : 44 Question Id : 79840723630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 45 Question Id : 79840723631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
which of the following is not a Maha Ratna Cornpany™?

Options:

1. % GAIL

2 % SAIL

3. % Coal India

4. ¥ Ajrports Authority of India

Question Number : 45 Question Id : 79840723631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 46 Question Id : 79840723632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
In Industrial policy 1991, which of the industries are reserved for public sector?

Options:
1. ¥ Railways

2 % pal
3 #  pautomobiles
4 % [ron & Steel

Question Number : 46 Question Id : 79840723632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 47 Question Id : 79840723633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

when there is acute scarcity of finance due to revenue crunch, to meet fincrease the public expenditures,
developing countries resort to

Options:

1. #® Planned economy

2. % Controlled imports
3. % Foreign borrowings

4, ¥ Deficit financing

Question Number : 47 Question Id : 79840723633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 48 Question Id : 79840723634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
Under the sponsorship of the International Monetary Fund, the system of currency used is

Options:

1. % Gold parity standard

2. %  Gold exchange standard
Z % Gold bullion standard

4 # Bimetallic standard

Question Number : 48 Question Id : 79840723634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 49 Question Id : 79840723635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Consider the following staterments and indicate the correct answer:
Staternent-1: Profit sharing is a systern in which people who work for a cornpany receive a direct share of profit.
Staternent-11: Dividend is the sum of money paid regularly by a company to its creditors out of its profits.

Options:

1. % Statements (1) and (2) are true

2 " Staterment (1) is true and (2) is false
3. % Statement (1) is false and (2) is true

4 % Statements (1) and (2) are false

Question Number : 49 Question Id : 79840723635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
308 71 Mol VPR T JocwE ol

DO : 2,8 E0:0Ie5° DD DD DD €5 EoDA e3P0 erere o) DEE

o aI"I® A0 @5{) i‘%&j‘é)r‘&}
araxS 2Bof es0trd.

D0ea-1I: 28 SoND B ML) e3000 PP A0L) JONET S0 D0med) DBodt=dy
C.a)olf esotd).

Options:

| % 006 DDLU DD

, o 006 DDOELr S

. oed0Ea-| 00
3 ® o

L % DDl DDA

Question Number : 50 Question Id : 79840723636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The annual credit sales of a firmis Bs. 12,880,000 and the debtors amount to Bs. 1,60,000. The Debtor's
turnover is

Options:

1. % 0125

e

3 % 112,000

4 # Data is Insufficient



Question Number : 50 Question Id : 79840723636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 51 Question Id : 79840723637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
The Cost incurred in the past and is not affected by a current decision is referred to as

Options:

1. % Sunk cost

2. % Marginal cost

% % Incremental cost

4. % Replacement cost

Question Number : 51 Question Id : 79840723637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 52 Question Id : 79840723638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Which test can be used both as parametric and non-parametric test?
Options:

1. % 't test

2. ® F test

3. ¥ ‘Chi-square’ test

4 # Wil-coxon’ test



Question Number : 52 Question Id : 79840723638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 53 Question Id : 79840723639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

which of the following ratios are taken into consideration by a banker before sanctioning a loan?
Options:

1. ® Proprietary Eatio

2. % Debtor Turnowver Ratio

=, ¥ Debt Equity Ratio

4. % Current Ratio

Question Number : 53 Question Id : 79840723639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 54 Question Id : 79840723640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Digital products, such as software, music, digitized irmages, and electronic games are a great fit for consumer
focused (E2C) e-comumerce because

Options:

1. # they are always free

2. ¥ electronic distribution is more efficient than alternative distribution channels for digital products
% % digital products are not a good fit for B2C e—cormmerce

4. % they cannot be easily monitored



Question Number : 54 Question Id : 79840723640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 55 Question Id : 79840723641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Advertising that appears while consumers are surfing the Web, including banner and tickler ads, interstitials
skyscrapers, and other forms is called

Options:
1. # specialty advertising

i)

2. % portal promotion
= ¥ online advertising

4. % virtual advertising

Question Number : 55 Question Id : 79840723641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 56 Question Id : 79840723642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The cnline ads that pop up between changes on a Website is referred as
Options:

1. ® Content sponsorships

2. ¥ Interstitials

% ® Eanner ads

4. % Browser ads



Question Number : 56 Question Id : 79840723642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
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Question Number : 57 Question Id : 79840723643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The cormponents of E-business model are
i Web Server

1i. Web Master

iii. Internet

Iv. Web Administrator

which one out of the above is correct

Options:

1% 4,1, iii &iv
Z %1 &l

3 ¥ 1 & il

4. % iii only
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which one of the following is not a benefit of E-Cormmerce?

Options:

1. % E-Commerce offers greater flexibility in meeting consumer needs
2. %  E-Commerce can help to reduce cost

3. %  E-Commerce increases potential market share

4, ¥ E-Commerce increases the net cost per contact
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“The population of Andhra Pradesh is more literate than that of Tamil Nadu.” This staterment is an exarmple of
Options:

1. ¥ Descriptive Hypothesis

2. % Causal Hypothesis

3. % Correlational Hypothesis

4. ¥ Experimental Hypothesis
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If in a given Binomial distribution with 1° fixed and P < 0.5, then
Options:

1. % The Poisson distribution will provide a good approximation
2. % The Einormial distribution will be skewed to the left

Z. ¥ The Einomial distribution will be skewsd to the right

4. % The Einormial distribution will be syrmmetric
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If the sample size is less than 50, which non parametric test can be used to test the independence of attributes?

Options:

1. # Chi-square test
2. ¥ Fisher Irwin test
2. ® Cochran O test

4 % Kruskal Wallis test
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Tandon Cormrmittes was appointed by the Reserve Bank in the year



Options:
1. % 1973

o #1979
3 % 1978
4 ¥ 1974
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Tukey Kramer Test is applied when there is

Options:

1. % Significant difference between means of two groups

2. ¥ Significant difference between means of three groups
= % Mo significant difference between means of two groups

4. % INo significant difference between the means of three groups
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& pricing strategy which sets prices primarily, but not exclusively, according to the estimated value of a
product or service to the customer rather than according to the cost of the product is.

Options:
1. ¥ Cost plus pricing
2. ¥ Value pricing

3. % Power price points



4, % Penetration pricing
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The marketing activities needed to manage the elernents of the firm's external environment and try to control
those factors.

Options:
1. ¥ De marketing

2. % Meta marketing
% % Mass marketing

4. ¥ Mega marketing
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A type of purchasing scenario whereby the purchaser of a product or a service has past experience
with purchasing it and automatically makes the decision to purchase again.

Options:
1. ¥ Extensive problern solving hehaswiour

2. % FRoutinised buying behaviour



= % Variety seeking behaviour
4. % Purchasing behaviour
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The business of promeoting and selling a product or Service to a specialized segment of a market is
Options:

1. % Niche marketing

2. % Remarketing

% % Sorcial marketing

4. % Position marketing
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The concept of market segmentation was proposed by

Options:
1. % N H. EBorden

= ®  Peter Drucker



= % Wendell B, Smith
4. % Eugene ]. Kelly
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The results of IRE method may be inconsistent compared to MEFY method, if the projects differ in their
i) Expected lives

{ii) Investrnent

{iii) Tirmirg of cash inflow

{iv) Interest rate

which one out of the abowve is correct

Options:
1% 1 i iii
> % i iv

2 %4 i iv
4 % i, iv
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The capital budgeting appraisal criterion that is most appropriate in the situation of capital rationing will be

Options:

1. #® Pavback period

2. % Internal Rate of Return
% % Det present value

4, ¥ Profitability indesx
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The Cptimal debt-equity ratio of profitable firm that has stable, tangible assets would be higher than the
optimal debt-equity ratio of unprofitable firm is referred as

Options:

1. # Traditional Theory

2. ¥ Trade-off Theory

3. #®  Pecking order Theory
4. % Gordon Theory
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Match the items of two lists. giving the correct code :

List—1 List—1I
a. Dividend Capitalization Model 1. John Lintner
b. Dividend Relevance Model 11. James E. Walter
c. Dividend Irrelevance Model 111. Myron Gordon
d. Dividend Pavout Model 1v. Modigliam& Miller
Options:
a b ¢ d
1 % u 1 111 v
a b ¢ d
o> ® 1 v 11 i1
a b c d
3 ¢ 1 1 1V 1
a b ¢ d
4 R v 111 1 i1
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The cormrnittee constituted to examine all the aspects of working capital finance including assessment of
rmaximum permissible bank finance MPEF) is

Options:

1. ¥ Kannan Cormmittes

2. % Chakravarthy Cormrmittes
% %  Marathe committee

4 # Chore Cormumittes

Question Number : 73 Question Id : 79840723659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
D0 QPO PPy 0I0E) D) VowdS 0T (100 S, eres PTPQY ds),

ev0cirredd eniE D HB200eIS & 306 EDED DADIOTID.

Options:

Y. D (=500 A
S50 S0

> R

, % S0 (598) g0

Question Number : 74 Question Id : 79840723660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The process that includes all electronics-based information exchanges within or between companies and
CUStOITErS 15

Options:

1. % E-commerce

2. %  E-marketing

3. %  E-communication
4. ¥ E-business
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which of the following would not be considered to be among the major Internet dormains?
Options:

1. % E2C (business-to-Consumer)

2 % EB2E (business-to-business)

% ¥ G2C (overnment-to-Consurmner)

4 ® C2C (consumer-to-Consumer)
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EZE trading networks that link a particular seller with its own trading partners are called
Options:

1. ¥ Global networks

2. ¥ Private trading networks

= % Open trading networks

4. % Oracle trading networks
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which of the following is the test of the long term liquidity of a business?
Options:

1. ¢ Interest coverage ratio

2. % Stock turnover ratio

= % Operating ratio

4 # Current ratio
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Abnorrral cost 15 the cost

Options:

1. % Normally incurred at a given level of output

2. ¥ DNot normally incurred at a given level of output
3. #®  Cost due to inefficiency

4. % Unplanned cost
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Match the items of the followmg:

List—1 List —1II
(1) No profit. No loss (a) Present value
(11) Profit volume relationship (b) BEP
(111) Conservatism (¢) Doctrine of prudence
(1v) Current worth of future (d) P/V Ratio

sum of money

Options:
1 @) () ()
1Lv®d D () (2
@ ) ) @)
> % (b) (a) (d) (c)
(1 () () ()
z () (@ (@ (b
n @ () (w)
Lx© @ O @
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In a cash flow staterment the purchase of machinery by means of issue of shares should be
Options:

1. % Included

2 ¥ Excluded

% % Included with value as zero

4. % Show in supplementary note
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Unrealized gains and losses arising from foreign exchange rates are

Options:

1. # Cash flow from operating activities
2. % (Cash flows from financing activities
= % (Cash flows from investing activities

4 " Mot from cash flows
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Earl Pearson’'s coefficient of correlation is based on the assumption by
Options:

1. % Lectokurtic

= ¥ MNormglity

% % Platykurtic

4. ¥ Probability
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The average extent to which all scores in a particular set vary from the mean is the

Options:

1. ¥ Probability statistics

2. % Statistical significance
2. ¥ Standard deviation

4. % Central tendency
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which of the following is not a non-probability sampling method?
Options:

1. ¥ Systematic sampling

= % Convenient sarmpling

2. % (CQuota sampling

4. % Judgement sarmpling
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The statistical tool used to estimate the unknown values of one wariable from the known values of another
variable is referred as

Options:

1. ¥ Regression

2. %  Probability

3. % Test of significance

4. % Correlation
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The process of introducing higher quality products by a manufacturer is



Options:

1. # Product line expansion
2. % Product line contraction
= ¢ Trading up

4. % Trading down
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Positioning is what vou do to the mind of the prospect’ is referred by

Options:

1. % Al Ries and Jack Trout
2. % Sengupta

% % Michael Rochschild
4. % Ernest Dale
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hen a consumer derives more satisfaction froma product or service than his expectation 15 knowrl as
Options:

1. ® Consurmer satisfaction

2. ¥ Consumer delight



3. %  Consumer dazzling

4, % Consumer dissatisfaction
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“Marketing Myopia® negatively influences the
Options:

1. # Current product offerings

2. % Forecasting the future product offerings
% % Dropping a product

4. % adding a product
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SWOT analysis is an analytical tool for having

Options:
1. ® Competitive advantage

2. % Comparative advantage
= ¥ Comprehension of current overall situation of a firm

4, % Selection of projects
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Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Understanding of the dynamics of the product in order to showcase the best qualities and maxirmum features
of the product knowr as

Options:

1. % Product concept

2. % Production concept
3. % Selling concept

4. % Marketing concept
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Correct : 2 Wrong: 0.66

The working capital needs are primarily financed by long-term sources and the use of short-term sources may
be restricted to unexpected and emergency situation is referred to

Options:

1. ¥ Aggressive approach
2. % Hedging approach

3. %  Moderate approach
4. ¥ Conservative approach
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The determination of total amount of assets to be held in the firm, the composition of these assets and the
business risk complexities of the firm as perceived by the investors is

Options:

1. % Investment Decisions
2. % Financing Decisions
% % Dividend Decisions

4 % Capital Structure Decisions
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In which method the cost of equity capital is that discount rate which equates the current market price of the
equity (P) with the sum of present value of expected dividends.

Options:
1. ® Capital Asset Pricing Model
2. %  Cost of Retained Earnings



= % Dividend Valuation Method

4. % Earnings per share
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The FRICT framework consists of

Options:

1.9 Flexibility, Risk, Incorme, Control and Timing

2 ® Flexibility, Return, Income, Control and Tirme
o R Feasibality, Eeturn, [ncome, Cost and Tiring

4 % Future, Risl, [ncome, Cost and Time
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Choose the correct option from the following:

Staterment-1: Companies decide each vear's dividend by looking at their capital expenditure requirernents and
then distribute whatever cash is left over.

Staterment-II: Companies undertake substantial share repurchases usually finance them with an offsetting
reduction in cash dividends.

Options:



1. ¥ Both staterments I and II are true
= % Both staternents I and II are false
= ¥ Statement [ is true but I1 is false

4 % statement [ is false but 11 is true

Question Number : 96 Question Id : 79840723682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
308 70 Hod DO Do Babod:

D0l POGD DAY LIVTOD GRS EonED Sodden DA DodEGo CDToCD
G20 HOD BT 9DJT°OL Dowed SFro.

Daoe-Il: DI CIToED SHod &BT0E Sodden DG JBo TLB ABH Ffien S
2)S00DRD DEEPo).

Options:

| % O0CD) )G 230

5 ® 006 edOeaear @E:D:]

L DOOE-] DDDO

4 % D0 HTHO

Question Number : 97 Question Id : 79840723683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
& two way SYSterratic conversation between an investigator and respondent is called

Options:
1. %  Observation

2. % Scheduling
2. ¥ Interview

4 %  simulation
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Ar experiment which can be repeated under the same conditions and the outcorne cannot be predicted under
Ay CIrCuImstances 15 kiowrl as

Options:

1. % Random Experiment

2. % Probability Distribution
% % Binomial Distribution

4 % MNormal Distribution
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If null hypothesis is HO: p = 90 and the alternative hypothesis is Hi p < 90, it is appropriate to use a
Options:

1. # Right tailed test

2. % Two tailed test

= ¥ Left tailed test

4. % v or 'z test
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Correct : 2 Wrong: 0.66

The level of significance is the probability of cormmitting the
Options:

1. % Typel error

= % Typell error

% %  Standard error

4 # Probable error
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From the following which is more suitable for casual relationship involving two or more variables
Options:

1. % Correlation

2. %  Factory analysis

3. ¥ Regression analysis

4. % Time series analysis
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Correct : 2 Wrong: 0.66

The net income available to stockholders 15 Bs 125 and total assets are Bs 1,098, then the return on equity
woald e

Options:

1. % 0.11times
2. ¥ 1140%
. %012 times

4 ® 12%
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The concept of Maximurm Permissible Eank Finance MFEF) in the working capital finance by a banker is
introduced by

Options:

1. ¥ Tandon Cormmittes
2. % Kannan Cormrmittes
% %  Dehejia Committes

4 # Chore Comumittes
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According to which model, the optimal cash managerment strategy can be determined through the use of a
rraltiple linear prograrmming rmodel.

Options:

1. % Miller-Crr model
2. ¥ Orgler's model

= % Baumol model

4. % walter model
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Gr0oss working capital refers to

Options:

1. % Current Assets

2. % Current Liabilities

% % Current Assets - Current Liabilities

4 # Current Assets + Current Liabilities
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The main objectives of ratio analysis are to

i Simplify the comparative picture of financial staterments.

. Assist the management in decision making.

iii. Gauge the profitability, solvency and efficiency of an enterprise.
iv. Ascertain the rate and direction of change and future potentiality.
Identify the correct ones from the abowve

Options:
1. % i i and iv
= % i iiiandiv

Z % §i diiandiv
4 % jandiv

Question Number : 106 Question Id : 79840723692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong : 0.66
DD DFNE DY), DD UTJRES, 06 TBROE DTS TBD MBosol?
I. e_ﬂgé aafyge) mﬂﬁﬁéé Elg“bi A0eEE00 oilo
ii.  Dgamo BRE He0es” DDE oth DAL DEEO
il. €553yy BONIDN 33, ISy B Frang o FOdeo

@)

V. QPdyy g BF B0 G andoin aDan &ajg‘*émm €90 "0 0

Options:

| % L iil and iv
5 o L1, 11 and 1v
2 % il ifi and iv

4 % 1and 1v

Question Number : 107 Question Id : 79840723693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The cost incurred by the production of one additional unit is called
Options:

1. ® Awerage Cost

= % Marginal Cost

3 % Unit Cost

4. ® Incremental Decisions
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If the two regression coefficients are 0.8 and 0.2, then the value of coefficient of correlation is
Options:

1. % 4016

2 % -040

3 % -016

4 ¥ 4+ 0.40
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& monopoly producer has
Options:
1. ¥ Control over production but not price
2. % Control over production, price and consumers
3. % Control neither on production nor on price

4. % Control over production as well as price
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Correct : 2 Wrong: 0.66
The optirmal output decision

Options:

1. ® minimizes the average cost of production

2. % minimizes the marginal cost of production.
. %  minimizes production costs

4. ¥ is most consistent with Imanagerial obhjectives
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[s0o-quants are also known as

Options:

1. % Equal cost curves

2. %  Equal revenue curves
= ¢ Equal product curves

4 # [ndifference curves
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Marginal product becomes negative

Options:



1. ¥ When total output grows swiftly
2. ¥ When total output turns down
% % In no circumstances

4. % When total output ceases to grow swiftly
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COTISUITer's SLlI'plLlS 15 the highest in the case of
Options:

1. ¥ MNeressities

2 ®  Luxuries

. % Comforts

4. % Complementaries
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Economists associated with the developrnent of indifference curve analysis are

Options:

1. ¥ Hicks and Robbins
2. ¥ Hicks and Allen

% % Marshall and Hicks

4 # Hicks and Walras
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which one of the following is a relative measure of dispersion?
Options:

1. # Standard deviation

2. % Variance

3. % Coefficient of variation

4. % Cosfficient of correlation
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If a chi-square test is to be performed on a contingency table with 2 rows and 4 columns, how many degrees
of freedom should be used?

Options:
1.9 Six
2. % Four
3. # Eight

4 % Twio
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Correct : 2 Wrong: 0.66

A research conducted to find a solution for an immediate problem is
Options:

1. # Fundamental research

2. % Analytical research

3. ¥  Action research

4. % Survey research
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The process of withdrawing stakes either in full or part by the government is called

Options:

1. # Privatization

2. ¥ Disinvestrment
= % Sales

4 ® Legse
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The concept of optimurm firm is propounded by
Options:

1. # Sargenet Florance

2. % Pigou

=z ¥ EAG Robinson

4 % alferd Marshal
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& plant is

Options:

1. # COwning and managing an establishment

2. ¥ A congregation or body of persons assembled at a time or place for an economic purpose
3. #®  Machinery

4. % Group of plants
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Among the following which is not a generally accepted trait of leadership

Options:

1. #® self-discipline
2. % High education
3. ¥ Flexibility

4, % Intelligence
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Training is to operatives a development is to
Options:

1. % top and middle level managers

2. % sales personnel

% % administrative personriel

4 ¥ yorkers

Question Number : 122 Question Id : 79840723708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
S0 56 Jerfi, 9DD03 3068 v

Options:
Jrided awboID 206 ~row DoGrLRD
ik ® (i}
o
- e:}.més“e_;r n:m_goa



DTETE e ot

, T&éﬁ}tﬂ
4

Question Number : 123 Question Id : 79840723709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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The theory which focus on the factors within a person that energize, direct, sustain and stop behaviours is
Options:

1. # ¥ theory

2. ¥ Content theory

= % Process theory

4. % Cognitive theory
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which is not a formal group

Options:

1. ¥ Committee

2 % Teams

% ¥ Reference group

4. % Departrment
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Met worth of business means

Options:

1. ¥ Equity capital

2. % Total assets

3. ¥ Total assets - total outsiders liabilities

4, % Fixed assets - current assets
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Contribution means

Options:

1. % Sales - fixed cost

2. % Fixed cost - profit

3. ®  Variable cost + profit
4. ¥ Fixed cost + profit
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Stock turnover ratio is a
Options:

1. % Liquidity ratio

2. % Profitability ratio
= % Solvency ratio

4 % Performance ratio
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Liquid hiakilities include

Options:

1. # Creditors only

2. ¥ Creditors and unpaid expenses
3. #®  Creditors and debtors

4. % Eills payable and bills receivables
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The ability of a company to meet its short-term obligations is knowr as
Options:

1. ¥ Liquidity

2. % Solvency

= % Profitability

4. % Trading on equity
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Marginal cost reans

Options:

1. ¥ Fixed cost

2. % Opportunity cost
3. % Sunkcost

4. additional cost
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Correct : 2 Wrong: 0.66
Cost of retained earnings is calculated by taking

Options:

1. ¥ Opportunitycost
2. % Explicit cost

= % Specific cost
4, % Implicit cost
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Correct : 2 Wrong: 0.66
Froduct costs are otherwise kol a5

Options:

1. # Period costs

2. ¢ Manufacturing costs
3. % Average Ccosts

4. % Marginal costs
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Correct : 2 Wrong: 0.66
Discounted cash flow is a technique of



Options:

1. # Cash flow analysis
2. ¥ Capital budgeting
= % (Cash management
4. % Cost of capital
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Lockout is declared by
Options:

1. % Wworkers

2 % Law

% % Governrment

4. ¥ Management
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T-Group training is an example of
Options:

1. # Erain storming

2. ¥ Sensitivity training



% % Role playing
4. % Management games
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The relative worth or moeney value of a job is determined by
Options:

1. % Job analysis

2. % Manpower planning

= ¢ Job evaluation

4 % Job enrichment
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Training is necessary for

Options:

1. # MNew emplovees only

2. #®  Existing emplovees only

= ¥ MNew and existing employees

4. % Emplovers only
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Correct : 2 Wrong: 0.66
Organisation chart is expected o disclose

Options:

1. ¥ Formal relationships

2. % Informal relationships

% %  Channels of formal authority

4. % Relative authority
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Correct : 2 Wrong: 0.66

The theory that focuses on deterrmining whether the distribution of resources is fair to both relational partners
15

Options:

1. ¥ Equity Theory

2. %  Expectancy Theory
= % Goal setting Theory
4. % Maslow's Theory
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Single Line Question Option : No Option Orientation : Vertical
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The surplus value theory was developed by
Options:

1. % Karl Marx

2 % 15 Mill

3. % adam Srmith

4 # David Ricardo
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Erain storming technique is used by the organization for
Options:

1. % Work allocation of the shop floor

2. ¥ Generating alternative for problem solving

% % Promoting research and developrment

4. % Training the employees
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Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The process of deterrmining the tasks that make-up a job and the skills, abilities and responsibilities needed to
perform the job is called

Options:

1. % Job Analysis

2. % Job Description
2. % Job Enrichrent

4. % Job Specification
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Question Number : 143 Question Id : 79840723729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The principle that states the mermbers of a hierarchy are promoted until they reach the level at which they are
no longer competent is

Options:

1. # Promotion Principle
2. ¥ Peter Principle

Z. ® Parkinson law

4. % Drucker Principle
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& Megative attitude toward the members of specific groups, based solely on the fact that they are members of
those groups 15

Options:

1. % Attitude

= ¥ Prejudice

2 ®  Attribution

4, % Social identity theory
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The process of estirnating the number of personnel required for a project with different skillsets ower a
predefined period of tirme is called as

Options:
1. ¥ Recruitment

o % Salaction



3. ¥ Manpower Planning

4. % Placement
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The process in which an employver and a group of employees agree to the conditions of work:

Options:

1. ¥ Dispute settlement
2. ¢ Collective bargaining
% % Industrial democracy

4. % Collective negotiation
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The principle of managerment that states no employee should report to more than one superior is called
Options:

1. ® Sealar principle



2. % Span of control
=, ¢ Unity of command
4. ¥ Unity of direction
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Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The purpose of Induction training is

Options:

1. # To provide a means of correcting or commending the efforts of individuals

2. %  Toenable the trainee to overcome nervousness and get the best out of training
= ®  Torevive the earlier learning in the minds of the employees

4. % To familiarize the new entrants of the organization with its objectives, rules and working conditions
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Correct : 2 Wrong: 0.66



Settling of disputes between two parties by an impartial third party, whose decision the contending parties
Agree to ACCept is

Options:

1. % Conciliation

2. % Adjudication

= ¥ Arbitration

4. % Dispute Settlerment
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When the TR curve and TC curve are parallel and TR exceeds TC
Options:

1. % Total profit is masximised

2. % Total profit is minimised

% % Normgl profit is minimised

4. % MNormal profit is masimised
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